S=Fa771vTa0I(P)

MINIATURE FITTING

mER B ABERTAE

Features How to Designate

@ RINANR—RAZRAPRISENT
Minimum space for maximum advantage.
@ BEIVN\YNTIARNIIY P AI — 3 2
Light and compact for cost-down of system. .
W i ¥ 1
Specifications . —
— SZFaATT1vT4VITVU—-XEES
ERARY ERF 1 —JICLDHROBEENELDHBENHBDEFITDT. N .
WEEROD | SRR L. a - BRAF1—IHE
The content of the specification may vary depending on working condition. Applicable Tube O.D.
Or the type of tube to be used.

3.2
04
¢6
=Rl
B EEREME Part No. of Standard Type
Main Part Materials AZ/)N\—=FI)ILITILR Universal Elbow
IZ)\—=Y)bT« Universal Tee
L-7IvRITI L-Adjustable
EEL Metal SUS316 T-7Iv 25T T-Adjustable
ASE Packing Teflon = L-Union
T-1=#%> T-Union
FoOVI\yF+Y Teflon Packing
[ | *Eﬁﬁﬁ“j‘ LD /3=y I Telescopic Hose Nipple
s Recommended Tightening Torque IK—Z2AZw I Hose Nipple
% R—R IR Hose Elbow
7 mavs /3=y ) Doble Telescopic Hose Nipple
?f M5 0.5~1.0 ERMTF Extension Joint
4 . . -
z R(PT)1/8 7~9 =vIlb Nipple
3 R(PD1/4 12~14 755 Plug
SHEERN ML O BBTD <A, Jvva Bush
= BZREUTEFRDODE RANFEDTEICT2~3EEGRICHHELET, TJwva Bush
= RAUMICEY—ILT—TEY—)LEIEZ CERLIEEL,
9:; Please follow the recommended tightening torque.
7 Please use the seal tape or seal adhesive for R-screw.
7
«
W
7__
P
pA
J
(D]

94



| ZZFaT7T4v74VIP) |

(unit : mm)
AZ)\—YILIILR
Universal Elbow
PAL PAL-3.2 3.2 M5X0.8 1.6 2.6 5 12 13.5 3.5 0.5 -
PAL-4 4 M5X0.8 1.8 2.8 5.5 12.5 13.5 3.5 0.5 -
PAL-6 6 M5X0.8 2.5 4.5 7 14 15 5 2 -
XEEICDVTEBEVEDELEEL),  Please inquire of us about mass.
H7
™ w0 mUTZ/_ g
—_ © <
a1~ : s
t
~ LN
07 B
L M5x0.8
(unit : mm)
AZ)\—Y)L57«
Universal Tee
PAT PAT-3.2 3.2 M5X0.8 1.6 2.6 5 17 13.5 3.5 0.5 -
PAT-4 4 M5X0.8 1.8 2.8 5.5 18 13.5 3.5 0.5 -
PAT-6 6 M5X0.8 2.5 4.5 7 21 15 5 2 -
XEECDOVTRBREVEDE L EE L.  Please inquire of us about mass.
H7
i @ 2
- n T
o Los I
L N\ M5Xx0.8
L-7I v X5 T T-7IvX5T)Ib
L-Adjustable T-Adjustable
10 W 13 W7 o7
L e
ey sdicy
o ‘___1=—-=\ e =l f\\
2 5 B - ek f-'c:~ \QJ
o~ T T N'—L[E:: /
™ u:i: i ) .
M5X0.8 M5X0.8
L-a=AY T-1=F2
L-Union T-Union
PCL PCT
8 13 8
| | |

10

i

[T
Sl

|

j]

|

|

2-M5x08

—
il
518
D

3-M5%08



| E=Fa7T4v74VIP) |

(unit : mm)
F20VIN\vF+
Teflon Packing
TP TP-0.5 0.5
TP-1 1
TP-2 2
@D
WO
2 -
S
Sk
(unit : mm)
S5 /A=v )
Telescopic Hose Nipple
PTN-3.2 3.2 M5X0.8 1.6 2.6 5 1.5 -
PTN-4 4 M5X0.8 1.8 2.8 55 12 -
PTN-6 6 M5X0.8 2.5 4.5 7 13.5 -
XE2(CDVTIEFBEWVEDELEEL),  Please inquire of us about mass.
M5X0.8
TN
I < |
hcS hSY
1 -
4 25 B
L
(unit : mm)

KR—RAZ=Zw I

F Hose Nipple

u §

M PFTN

x PFTN-4 4 M5X0.8 1.8 6.5 7.5 15.5 -
5

? PFTN-6 6 M5X0.8 25 8.5 8.5 16.5 -
% XEEICDVTIRBREVEDELEEL),  Please inquire of us about mass.

- MSX08  HEXT

; —

a

2 —

7 s 3

e

v

—_— ] 1

T P

:f TP 3 8B ‘

A L '

J
P

(unit : mm)

R—RATILK

Hose Elbow

PAFL

PAFL-4 4 M5X0.8 1.8 | 155 | 6.5 12 8.5 7.5 15 5.5 -
PAFL-6 6 M5X0.8 25 | 175 | 85 | 135 | 95 8.5 16 6 -
$EECDOVTREBEVEDELEEL), Please inquire of us about mass.
HEX7
|
.
_ — —NT‘é
a8

M5X0.8 625

96



ma~45 /1=

Doble Telescopic Hose Nipple

PDN

ERMF

Extension Joint

PN-M5xM5L

—wvIIb
Nipple

PNS

Jwa
Bush

PBS

w )b

0
o~
S

M5X0.8

M5X08

PT )4

| S=FaT7T4974V9P) |

(unit : mm)

PDN-3.2 3.2 1.5 2.6 4 5 1 1 -
PDN-6 6 2.3 4.4 7 7 1 15 -
XEECDVTREBREVEHDELEE L),  Please inquire of us about mass.
‘I‘l !il‘l: <! a
oy sle
B 1t B
o L
M5X%0.8
i \
4 13 HEX7
7359
Plug
M5x0.8 H7
/ M5><0 8 P

>
- 1y

Jva
Bush

PBS-1

25

M5X0.8

97



